
 

In the next set of lectures we will
discuss yet another way of solving
linear equations with constantcoefficients
but this will require additionalbackground
We introduce a function of functions
defined via the following formula
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integral converges Ci e it is finite

Note that you plug in a function f Ctf
as an input and integrate in 1 assuming
that s is a constant Then the value
of the integral depends on so we

denotethe resulting function FGS

We thus defined what is called the
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substituting this back into the limit
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We conclude that Laplace transform is lineal
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Next
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for awy value of s as tox tests

for any s etEsto x as tox for any



s f et stats x Laplace

transform of et is undefined
f HI should not grow too fast as tox

for the Laplace transform of f Ctf
to make sense

We have the following table of Laplace
Transforms we have computed so far
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The function is piecewize defined
cannot use the table need to use

the definition of IT instead
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Inverse Transform It turns out that

I T is invertible that is if
F Gl L If Ctl then there is no other

function oft say guy such that

f EgCH EG It follows that we
can define the inverse transform via
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Appealing to the table of Laplace transforms
above we can immideately construct
the table of inverse transforms
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